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Exercise 2.2
Question 1:

Which of the drawings (@) to (d) show:

. 1
1 2% —
(i) =
1
ii 2x—
(ii) o
(iii) 3x—=
1
iv Ix—
(iv) 3
€. Answer 1:
1 1 1
i)-(d) Since 2x—=—+-—
(- (d) 5=5+s
1 1 1
ii) = (b) Since 2x—=—+—
(ii) - (b) 5=53
2 2 2
iii) - (a) Since 3x===4+=4=
(iii) - (a) =37
1 1 11
iv) - (c) Since 3x—=—++=
() ={c) 2" 1771

Question 2:

Some pictures (a) to (c) are given below. Tell which of them show:

1 3
i Ix—=—
() e

1 2
ii Ix—==—
(ii) 53
3 1
iil Ix—=2—
(iii) Br=ly

€. Answer 2:
(i) - (c) Since 3><-:_15-

(iii) - (b) Since 3x> =

+
4 4 4
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Question 3:
Multiply and reduce to lowest form and convert into a mixed fraction:

3 | 6 2
i Tx= ii dx— iii 2x— iv S5x—
(1) 3 (ii) 3 (iii) = (iv) 5
2 5 4 4
\% —x4 vi —x6 vii)  11x— viii) 20x—
V) 5 (vi) 5 (vii) = (viii) -
1 3
ix 13x— X 15x=
(ix) - (%) -
€. Answer 3:
R L= ) A i) ko441
5 5 5 5 3 3 3 3
[11]) 2x§ zﬁ :E:lé (IV] ng:ﬁ: E:ll
7 ") 7 7 9 9 9 9
(v) 2><4=ﬁ=§=22 (vi) Ex6=5><3=15
3 3 3 3 2
s R . P Wil]  20x =4x4=18
7 ) 7 7 5
) xi=2X - DB_,1 () 15x2 =3x3=9
3 3 3 3 5
Question 4:
Shade:
N 000
(i) 5 of the circles in box @535
Q00
AAA
us 2 . . B |AAA
(ii) 3 of the triangles in box A A
ooooo
(iii) 3 of the squares inbox ©0o00bn
HiE S
€. Answer 4:l
(1) — of 12 circles @
2 oo I o )
:lx12:6circ1es ey
i 2 £9 trianel A A
(ii) 3 of 9 triangles A A
=§x9=2x3=6triangles & 5 A
(iii) 4 of 15 squares E -
5 BEBED
3 IZIEIEIQEI[__"I

= gx15 3 x 3 =9 squares

www.tiwariacademy.com
A Free web support in Education

2



Question 5:
Find:
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(a) é of (i) 24 (ii) 46

© % of (i) 16 (ii) 36

€. Answer 5:
() () %of24:12
. 2 2
(b) (i) = of18=—-x18=2x6=12
3 3
() (1) E01‘"16"§><16"3x4—12
4 4
d) (i) g0f20=§><20=4x4=16

Question 6:

Multiply and express as a mixed fraction:

1 3
a) 3x5— b) 5x6=
(a) = (b) 4
(d) 4x6- @f3Lxs
3 4
#. Answer 6:
(a) 3)(51:3)(%:3)(26:&:155
) 5 5 5 )
2
(b) 5x6§=5x£=5x"7:g=33§
4 4 4 4 4
(c) 7x21=7x2=w=g=15§
4 4 4 4 4
(@) dxbo=dno =t _T0_pel
3 3 3 5 3
(e) 31x6:1—3x6= 13%3 =£:191
4 4 2 2 2
(B 32x8=£x8=17>¢8:@:271
5 3 5 %] 5

Question 7:
Find:

@) % of (i)

3 2
22 (ii) 4=
7 W43

(b) % of (i) 18 (ii) 27

(d) % of (i) 20 (i) 35

(ii) % of 46 = = 23

(ii) gof27=g><27=2x9=18
3 3

. 3 3

(ii) = of 36 = =x36 =3x9=27
4 4

(ii) g0f35=%x35=4x7=28

5 W Q.
(b) - of (i) 33 (ii) 95
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#. Answer 7:

@ O Sof23=1p3-1 4 1U_,3
> "4 2774 27478 '8

G Sofdseleds=re?d B 51

2 9 279 279 9 9

B 0 Cefsdedzal 3,8 115 o0

8 6 8 6 8 6 48 48

i) ZLafoR=pd. 2,8 WO L1

8 3 8 3 8 3 24 24

Question 8:
Vidya and Pratap went for a picnic. Their mother gave them a water bottle that contained

, ; 2 e
5 litres of water. Vidya consumed 3 of the water. Pratap consumed the remaining water.

(i) How much water did Vidya drink?
(ii)  What fraction of the total quantity of water did Pratap drink?

€. Answer 8:
Given: Total quantity of water in bottle = 5 litres

(i) Vidya consumed = % of 5 litres = %xS = 2 litres
Thus, Vidya drank 2 litres water from the bottle.

(ii)  Pratap consumed = (l~§] part of bottle

= g:% part of bottle

Pratap consumed % of 5 litres water = E><5 = 3 litres

Thus, Pratap drank % part of the total quantity of water.
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